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di(v) = min[dy_,(v), min{d;_,(u) + £(u,v)|(u,v) € E}]
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FIEO: dy(s) = 0,dy(v) = +o0 (Vv # 5) EHK. k=1&T 5.
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dx(v) = min[d_;(v), min{dy_;(u) + €(u,v)|(u,v) € E}]
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P —pP1 <1,p3—p1 <1,
P3 — Dy < 3,04 —Pp < —2, p1—Ps < 0,p2 —ps <0,

Ps—P3=4p3—ps <6 P3 —Ps < 0,p, —p5s <0
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P —pP1<1,p3—p; <1,

P3 — P2 < 3,P4 — D2 < —2,
Pa—P3<=4pP3— P36 p1=0,py =3
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B2: RODAFKXRDEITOIREEZ KO DD,
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Mp2—11<1Lp3—P1=1 p3—p,<3,ps—pr <2,
Ps—P3 <4, p3— Py <6

(2)xp —x, < —1,x;, —xp <3,x,—x,<1,x, —x, <4,

Xe —Xp < —3,Xg —Xp < 2,Xg— X4, x,—x3 <6



